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VCE Software Development - Test (SAC32A)
(Total = 100 marks)

Part A – Multiple Choice Questions (2 marks each)
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Question1
You have purchased a new hand-held PC with the following specifications: 312 MHz processor, 128 MB memory, screen resolution 320 × 320, including Bluetooth and Infrared.

Bluetooth and Infrared are examples of which one of the following?

A. data communication methods over long distances

B. voice communication methods over long distances

C. data communication methods over short distances

D. voice communication methods over short distances

Question 2

Andrew wishes to design games for hand-held PCs and mobile phones.

Which combination of features below are the most important for Andrew to consider?

A. screen size, weight and operating system

B. screen resolution, device size and processor speed

C. device size, device weight and processor speed

D. screen resolution, processor speed and memory size
Question 3
Which one of the following is characteristic of a high quality user interface?

A. places all functions in menus.

B. uses a range of attractive fonts and colours.

C. has all items grouped as closely together as possible.

D. has consistent labelling, button placement and navigation.

Question 4
An important database requires a date of birth to be entered for all new records. Some input errors have been detected. For example an entry was 14/05/2991 when it should have been 14/05/1991. Which one of the following validation techniques should have been used to prevent this data entry error?

A. data type check

B. existence check

C. format check

D. range check

Question 5
Consider the following Nassi-Schneidermann diagram
	A  ← 6

	B  ← 6

	FOR COUNT 1 TO 3
	

	
	A ← A – COUNT

	
	B ← B + COUNT

	OUTPUT A, B


What would be the final values of A and B?

	
	A
	B

	A. 
	6
	6

	B. 
	6
	12

	C. 
	12
	12

	D. 
	0
	14


Question 6
This algorithm calculates the total cost of a group of products.
BEGIN

Total_Cost ← 0

Code ← 0

WHILE there are items to be processed

INPUT Product_Cost [Code]

Total_Cost ← Total_Cost + Product_Cost [Code]

Code ← Code + 1

ENDWHILE

OUTPUT Total_Cost, Code

END
In the above algorithm, which one of the following is an array?

A. Code

B. Product_Cost[Code]

C. Total_Cost

D. WHILE

Question 7
When performing a desk check on an algorithm, which type of error is being checked?

A. logic

B. syntax

C. runtime

D. programming
Question 8
The VB.Net compiler,
A. Does not need to interpret code

B. Is a part of the Visual Studio .Net framework

C. Does not need to understand data type

D. when confused compiles the code anyway
Question 9
What data type could one use to hold currency value?

A. Decimal
B. Single
C. Double
D. Any of the above
Question 10
What type of data element can you create in code that can have its value changed as many times as necessary?

A. Property

B. Data grid

C. Constant

D. Variable
Question 11
Which decision construct should you use to evaluate a single expression to either True or False?
A. If …Then

B. Boolean

C. Truth table

D. all of the above

Question 12
What type of loop do you most likely need to create if you know exactly how many times the loop must occur?

A. Do … Loop

B. For … Next

C. Do Until … Loop

D. Do While … Loop

Part B – Short Answer Questions
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Question 1
List the stages of software development with a brief explanation of each.
	
	Stage
	Explanation

	1
	
	

	2
	
	

	3
	
	

	4
	
	

	5
	
	

	6
	
	

	7
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Question 2
What is meant by the terms data type and data structure?
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Question 3

What is the output of the following algorithm?

5, 6, 7, -1


Read a


Repeat



b = a*a + 1



Display a, b


Until a < 0













/4
Question 4
The declaration for a Customer array in a program is: 

Dim strCustomer(5) as String

a) Write code to set the following names “Smith”, “Jones” and “Thompson” at locations 0, 2, and 3 of the array, respectively.

b) The following counted loop sets the contents of the array to another string, which gets overwritten during loop execution.

For I = 0 to 5



strOutput = strCustomer(I)

Next

Complete the following table to show the array’s corresponding pair of location and content value as seen by strOutput during execution of the loop.

	Location, I
	
	
	
	
	
	

	strOutput
	
	
	
	
	
	


c) Improve this code by writing a search routine to locate “Smith”, which will be stored in strOutput.
(3 + 3 + 4)
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Question 5
a) What is the purpose of internal documentation? 
b) Who gets to benefit from internal documentation?
(2 + 2)
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Question 6
List four ethical considerations that programmers should be aware of in respect of program development.
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Question 7
Name three criteria (things that the software must be able to do) that can be used to evaluate software.
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Question 8
What is the purpose of testing a computer program? Describe two ways to design data for testing a program.
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Question 9
a) Design a software object – a road vehicle - showing public and private properties and methods.
b) Suggest the name of two different objects that would interact with the vehicle’s public interface.

(5 + 2)   
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Question 10
A user interface includes data entry for customer number from a text box named txtCustNumber. Write a data validation routine to test if the number: 

a) Exists

b) is an integer, and 

c) is the range 9999.
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